For Husgvarna Parts Call 606-678-9623 or 606-561-4983

?

(IR E TR Ja V212 ale) SERVICE ¢ 2

SE BE§ E EE ) P ) ¢ E‘-'.'.’EE EE.’E RP-‘%

— bty Miaiate - —{ l B9900024
English 1 (1)

SB, 340, 345, Cylinder, 1999-06

We are changing over to M6 screws in the production of cylinder joints. To facilitate servicing,
four M6 screws will be enclosed with each cylinder supplied as a spare part.

The cylinders are fully interchangeable.

The M6 screws must be tightened to a torque of 12 Nm.

New ref. no. Description Excl. ref. no.
503 87 00-75 Cylinder assy. 503 87 00-71
503 87 02-75 Cylinder assy. 503 87 02-71
503 20 05-32 Screw M6
Introduced from serial number: 340 992500501

345 992500001

Remarks

H340
H345

*compl 503 87 00-75 (D 40, H 340)
503 87 02-75 (D 42, H 345)

(x4) 503 20 05-32

WWW.mymowerparts.com



